Status Update of DGR Empanelled Security Agencies for Arunachal Pradesh

as on 16.04. 2025

- 1. Refer MoD/ DESW Guidelines for operation/ functioning of DGR empanelled ESM Security Services vide letter No 28(75) /2020-D/(Res I) dated 13 May 2021 and Corrigendum No. 1. Refer MoD/ DESW Guidelines for operation/. Tunctioning of DER empanelled ESM Security Services vide letter No 28(75)/2020-D/(Res - 1) dated 13 May 2021 and Corrigendum No. 28(75)/2020 -D/(Res - 1) dated 23 June 2021. The Data uploaded herein is compiled duly based on 'Reports and Returns' submitted by Proprietors & their Principal Employer (including requisitions & sponsorships) to/with DGR / DRZ's.

 2. Number of guards reflected against each agency is subject to minor revision(s) especially 'Under Negotiation' (U/N) column based on differences (if any) between number of guards sponsored by DGR / DRZ's with due date vis-a-vis their materialization as / if / when reported by the Principal employer / concerned proprietor (the onus rests with the proprietors to report
- difference with documentary proofs).

 3. DGR New Delhi will issue Empanelment Certificate for a duration of Five (05) Years or upto the age of 60 years (whichever is earlier) as per Para 6(a) of MoD OM 13 May 2021.

 4. Following documents / details will produced at the time of issuance / renewal of empanelment certificate (in original):-

- Aadhar Card
- PAN card
- ESM Identity card(Issued by ZSB)
- PSARA license
- · Affidavit for security agency scheme
- Current Bank Account in the name of agency (Copy of passbook duly attested)

 Proof of office (Copy of Rent Agreement / Ownership documents & Landline Bill)

 Mobile number & Email ID
- GeM Vendor code
- Form 26 AS will be downloaded in physical at DGR
- 5. "D" denotes "Documentary deficiency/ Violation". Concerned offices may be approached with requisite documents for removal of "D". Proprietors in operation list with remark "D" will not be considered for sponsorship irrespective of Seniority/WL.

		N			. B			
No.	Emp No.	Name of Security Agency			d Details	T	Remarks	
			Running	U/N	Total	Total gd months		
1	8609	Deepinder Singh Saini SA 1st Floor, Hotel Buddha Building, Old Market, Post Office And Police Station Twang, Tawang, Arunachal Pradesh - 790104 E-MAIL ID- deepindersaini@yahoo.com 8335982727	63	3	66	1564	Details of Availed gds 08 gds for 14 months = 112 Details of running gds 04 gds for 21 months = 84 (Contract closed vide PSU email dated 12.12.24 04 gds for 24 months = 96 25 gds for 24 months = 600 12 gds for 24 months = 288 05 gds for 24 months = 120 03 gds for 24 months = 72 10 gds for 12 months = 120 Details of UN gds 3 gds for 24 months = 72 (wef 06.03.25) Total - 1564 gd Months	
2	9139	Deepak Sahrawat SA Shop No. 3 First Floor Techi Pogo Building Gohpur Tinali Itanagar AP Lrb No 091042/94, Papum Pare - 791113. 9009515552	48	7	55	1320	Details of running gds 6 gds for 24 months =144, 1 gds for 24 months = 24, 7 gds for 24 months = 168 20 gds for 24 months =480 03 gds for 24 months =72, 11 gds for 24 months =264, Details of UN gds 04 gds for 24 months =96, (wef 22.01.25) 03 gds for 24 months =72, (wef 22.01.25) Total -1488 Guard Months Sponsorship for 04 gds at IOCL East Siang cancelled vide this office dated 11.04.25 as sponsorship not materlize within six months.	
3	9253	Virender Singh Malik SA First Floor Unit-1 Gohpur Tin Ali Po and Ps Itanagar District Papum Pare Arunachal Pradesh Papum Pare , AP - 791113. 8708934054	66	0	66	1488	Details of Running gds 42 gds for 24 months = 1008 11 gds for 24 months = 264, Total - 1488 Guard Months 8 gds for 12 months = 96 5 gds for 24 months = 120,	
4	9760	Kamal Kishore Singh SA Office at - Lower Niti Vihar, VIP Road, Itanagar, Papumpare, Arunachal Pradesh - 791111. Mob No 9166664567, Email ID: kksingh1448@gmail.com	53	16	69	1200	Details of running gds 38 gds for 12 months =456 15 gds for 24 months =360 Details of UN gds 16 gds for 24 months =384 (wef 30 Oct 24, 45 days extension granted vide email dated 19 Feb 25) Total - 1200 Guard Months	
	8358	Vikram Kaul Office at Naharlagun PO, PS Naharlagun, PO +PS Naharlagun, Papurpare, AP, 791110, Mob9356927287 Email vikramkaul@hotmail.com	0	80	80	1920	Details of UN gds 36 gds for 24 months =864 (wef 13.03.25) 44 gds for 24 months =1056 (wef 13.03.25) Total - 1920 Guard Months	
Statu	ıs: Non Ops	(Overage/Dissempanelled)				•		
1	4251	Mohonto Panging SA Pradesh Industrial State, 2 Mile, P.O.+P.S - Pasighat, Dist - East Siang, Arunachal Pradesh - 791102, Email ID: montypanging@yahoo.co.in 9435189727	9	0	9	3487.5	Disempanelled wef 21 Aug 2024 on own request Details of Availed gds 19 gds for 24 months = 456, 6 gds for 24 months = 144, 13 gds for 24 months = 312, 13 gds for 24 months = 312, 12 gds for 24 months = 288 13 gds for 24 months = 312, 20 gds for 24 months = 480 15 gds for 24 months = 360, 16 gds for 24 months = 384 05 gds for 24 months = 120, 04 gds for 24 months = 96, Details of running gds 05 gds for 25.5 months = 127.5 04 gds for 24 months = 96 Total - 3487.5 Guard Months.	